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¢Helr &2 sl (&)
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
S22 15,552,418 17,210,602 A 1,658,184
< 1,112,300
Al 14,440,118
S 22 L =S 6,919,795 10,159,820 A 3,240,025
< 1,022,300
Al 5,897,495
c=2 sAzel 3,398,395 2,786,428 611,967
< 15,300
Al 3,383,095
T2 WEEXZA 24,449 19,000 5,449
< 15,300
Al 9,149
101 @124l 24,449 19,000 5,449
< 15,300
Al 9,149
04 JIZtHZ22HEE = 24,449 19,000 5,449
OXNEE WS ZAE el
66,800 *229% +2,000& 15,300
< 15,300
OANE WSE ZAR 1Al
66,800 «137Z -3,000& 9,149
ANESE g & SZH 2al 162,900 180,300 A 17,400
201 et 162,900 180,300 A 17,400
02 2324l 162,900 180,300 A 17,400
OALFHI(SI]) HIBM =2
120,000& =130 13l 1,560
OANEHHI(FJ]1) EEZ 1,000,000 «7CH =13l 7,000
Od&xZ L HU(FI]) #2ME 22
40,0003 «13CH *23] 1,040
OH&ExE L HUI(FI) A2l
2,000,000 =150H 30,000
Od&xZ L HU(SI . MEHH) |7
1,500& %3504 =150 +12& 94,500
OU=x" T2E=XE KA 22l
400,000& x63] 2,400
0%2 9 HAXNE ARE P L X2
gl (2CH) 400,000& 123 «20H 9,600
OLHIHI HX 22l 300,000& »12& 3,600
OAJIEZH H®X 22| 200,000 122 2,400
OS2 SFXZ2ldl(03W,06W)
400,000& *2CH+128 9,600
OAEHHl RX2HI(M=21, JAHS, B2
HEs37) 100,000& =122 1,200
WHETE NCHS 116,440 12,200 104,240
201 et 11,440 12,200 AT760
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S
TR Bl U HE
=2 sxze

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 At 2t 2|l 2,400 2,400 0
OWEXE HEQP IS (HEX Sdts,
NEE) 200,000& x6H *23| 2,400
02 3322l 9,040 9,800 AT760
oM & T2=FX KX 2l
300,000& =83l 2,400
oM & TZ2=EXNE RF
1,500& 1804 =123 3,240
OBH U TREFXY BANLLYS
60,0003 *23| 120
OBE W CRETXY HIAN 442
40,0003 *23| 80
OVEIY S&8 0S4 £F)) DF222
500,000& *4CH 2,000
OWHEXE HEE 0lsA F3J KX 22
300, 000& »4CH 1,200
401 Al&HI 2 28I 105,000 0 105,000
01 A& HI 105,000 0 105,000
OSHHMHIY BB X L HHIZA
7,000,000 * 1504 2 105,000
WHERAE 701,392 397,268 304,124
401 Al HI 2 2018 701,392 397,268 304,124
01 A& Bl 697,000 395,000 302,000
OLZ=ue ME0S E3A
5,000,000 *100H & 50,000
OEE=sW |RANEx= S A 5,000,000 «20H £ 10,000
ONSY 3EALS(DBES) THRHBS
5,000,000 *45JH 2~ 225,000
ONT4EH 2T HUANMICSY
60,000,000& x13] 60,000
OB WAZ RAWP-En HUOHHHAEA
30,000,000& x13l 30,000
oMU (&) LA HMABTEA
30,000,000& x13] 30,000
OM2u(ct) LA HMABTEA
40,000,000& =13 40,000
OAN=1 B22 ZA 95,000, 000* 104 2 95,000
OEsS1Itw E==22 ZA 72,000,000%17H A 72,000
o2 Bx22 At 33,000, 000* 104 2 33,000
02w BExE22 ZA 10,000, 000*17H £ 10,000
OF0l =5T30556 PYD 4L BA
12,000, 000%17H £ 12,000
ONZE FEPE HEAD HUNNH AR
30,000,000%17H £ 30,000
03 AIE 2 0HHI 4,392 2,268 2,124
owng ¥z L mA &2l 697,000,000 x0.63% 4,392
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o2l &2 sz (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
A off CH 945,200 1,158,700 A 213,500
201 £B-2d| 262,200 191,200 71,000
01 At 22l 164,800 144,800 20,000
OHMUY ALEX SUI(HA,FA)
8,000& x20H 24! x30 9,600
OMERY 22X Yo U Y 1(S
HE g 200,000& 36X 7,200
OSH%sE MEXM &X ZH U=
2,000,000 «1CH*14H S H =S 28,000
ONMAZYE 158 EZ X2
600, 0003 *3CH+50 90,000
OMEXRHE HS2A(SHYl) Lz
600, 0003 »1CH+50 30,000
02 8323l 97,400 46,400 51,000
OMEFHI(2HAZI|, MAD]) SA22H(S
HE g 1,000,000 *25CH 25,000
OEUHE HMAEI AEX dHEE It
30,000,000& x1A 30,000
OMEXAE NAEH RIL(SHS)
500,000&*x145H & 7,000
OEHHERA HAEI KAZ2H(SHS)
100,000& *69CH 6,900
OZ2+WEI(83) L S0IAE X2yl
1,500, 000& 504 7,500
OALRLHCHOHOIIIE AUYE2 E2ALLXS
dgEd HMIIRB 5,000,000& x4 & 20,000
ONAEZAE SOAE HIHAE
1,000, 000& = 1CH 1,000
206 M= Hl 422,000 422,500 A 500
01 =8l 422,000 422,500 A 500
OM&AXYE JatzsEs 7+ 250,000 500 125,000
OMEXRHE HMEAZ 7
100,000& »2,000& 200,000
ON&exyE Zed HMEHM *¢
400,000& *200& 80,000
OMAEXM HMHE NMAL(HE, FUS)
500,000& 104 5,000
SoHHE 2 eH0HCH 300 =40, 0004 12,000
405 XHoHE S HI 261,000 545,000 A 284,000
01 AL EFHSHI 261,000 545,000 A 284,000
OMAZEGE IbEEdT 5 2 II| WA
-2 60,000,000 »2CH 120,000
ONAEAYE bEET 5 MY WA 2
2 15,000,000 *2CH 30,000
O=sts HNEHUE 1E =5 2HA4ZI Al
-2 11,000, 0002 *6CH 66,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSdE HMEZYgE 1E =& M&EJ wAH7Y
7,500,000 »6CH 45,000
2 0=8X 24 400,000 200,000 200,000
401 Al HI K 201 400,000 200,000 200,000
01 A& tI 400,000 200,000 200,000
OANE, sHEEZZ 0lEsX 24
200,000& *2,000m’ 400,000
IS FMA 22l 5,000 10,000 A5,000
201 Let24d] 5,000 10,000 A5,000
01 At 2teltl 5,000 10,000 A5,000
O=3sMa ECHX BHEE, S)===2
100, 000& »50E X 5,000
22+ & FXl2e 922,374 688, 320 234,054
101 124l 50,126 52,000 AN1,874
04 JI2ZtHZ22 a2+ 50,126 52,000 A1,874
C2 ¢ 25 HExAY (2 . XNEE AN, s
HEZ SAAHES) 71,6083 10«70 50,126
201 Let2d] 60,000 53,440 6,560
01 At 22l 43,200 37,840 5,360
Oz &M e A
100,000 »8H 43| 3,200
OEZE48 II=(S.5 RY=S)
200,000& 16 »23| 6,400
OEZR XN (ZEAH,FH =23H]) Zdl X
=3 600, 000& x40 «1CH 24,000
OSSHA(SSAE) 2d sX22lH(E=D]
AUE SHTAARE HACH , HIIEES)
800,000& »12& 9,600
02 =224l 16,800 15,600 1,200
OZ2Z2FA(SSAE) 2F 2otE CCTVEI A At
22 ¥ 538= 1,000,000& »12& 12,000
OE=2, NSATANLES &) & S
400,000 123 4,800
203 @R =&l 2,500 2,500 0
03 AIHF=AH R =AH| 2,500 2,500 0
OE2 Wa ¥ B2l AU =7
250,000& =103l 2,500
206 M= Hl 339,800 296,300 43,500
01 =8l 339,800 296,300 43,500
OZZATALE 2 (OtEU Y, RMS, Xd
zelt s) 140,000& »1,000m 140,000
OLZFHIE =4 ¢ 15,000& *2,000m 30,000
OE2FHIE otA2 2L 100,000& »300= 30,000
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2M: &2
Hu: C29 mel @ =5
e &2 X2 (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
307 2Iz2to| & 120,000 120,000 0
05 QIZ2tRE 2 120,000 120,000 0
OLAMAEXE & EHA HH|
12,000,000& x10& 120,000
| = ST H 402,880 503,600 A 100,720
ANE10S A STHE 402,880 503,600 A 100,720
401 A& HI L 2 0HHI 402,880 503,600 A 100,720
01 A& HI 400,000 500,000 A 100,000
OATI0SH EEZZEZAHH=H)
400,000 *1,000m 400,000
03 Al& 201 Y| 2,880 3,600 ANT20
OATI0SH EEZZEZAHH=H)
400,000, 000& *0.72% 2,880
sHEECZ 81 & 2,202,400 4,630,420 N2,428,020
=} 900,000
Al 1,302,400
LEA209S A (EIHA) S A DAL 400,000 0 400,000
= 200,000
Al 200,000
401 Al HI L £ 0HHI 400,000 0 400,000
= 200,000
Al 200,000
01 Al& H| 400,000 0 400,000
OsHESZ S A209S A (RIS ) S E 2 A
ANESsE HAEZZR) 2,000,000 *200m 400,000
= 200,000
Al 200,000
2IE211S(8tEl~22) 31 1,400,000 1,000,000 400,000
& 700,000
Al 700,000
401 Al HI L £ 0HHI 1,400,000 1,000,000 400,000
& 700,000
Al 700,000
01 Al& H| 1,397,200 995,000 402,200
OstiI~E22e 2lE211asd SIEZEZ AL
1,397,200 x1,000m 1,397,200
=} 698,600
Al 698,600
03 AlE 2 HH] 2,800 5,000 A2,200
Osti~E22e 2lE211asd SEZEZA
1,400,000, 000 *0.2% 2,800
= 1,400
Al 1,400
L2085 EHEI(2L2HM) 402,400 0 402,400
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tel: sHEER &2 F (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
1 AlEHI L2 402,400 0 402,400
01 A& HI 400,000 0 400,000
O=sHEEZZ 220856 (=5546) SEZE I A
A=, 0tRal) 800, 000& *500m 400,000
03 AIE 2 THHI 2,400 0 2,400
O=sHEEZZ 22086 (5546) SEZE I A
AIJNAH =, 0tRal) 400,000,000& *0.6% 2,400
SZ2OoHANLE B 916,120 1,739,372 A 823,252
= 107,000
Al 809,120
CEOHMAIE & HEXEEH 793,600 1,374,932 A 581,332
= 97,000
Al 696,600
401 AIEHIZ 28I 793,600 1,374,932 A 581,332
< 97,000
Al 696,600
1T A& HI 790,000 1,370,000 A 580,000
OANE & SHEEZ KRXE=S
100,000& *1,000m 100,000
OANE & SHEEZZ M
100, 000& *500m 50,000
OANT L sHEZZ OFA2IMN2I| SA
100,000& 1,000m 100,000
OTZ2EXE &% 2 BH(FEAH EXAEF)
5,000,000 *100H & 50,000
OCRAFMALSOISH Y, BA S)FY)
100, 000& *500m 50,000
OMN=XE FUISA(ZM, THAIZ)
2,000,000 *25JH A~ 50,000
OANMo=ZE L A2XEE RAE
100,000& 1,000m 100,000
OsHH RIESSN~-HEOIME A& XS
F(3=QUE O 0l &F) 240,000,000 =14 240,000
< 72,000
Al 168,000
OAE55 14X S At 250,000 *200m 50,000
= 25,000
Al 25,000
03 A& 2 THHI 3,600 4,932 A 1,332
OAIZ2 24 500,000,000%0.72% 3,600
Helol ¥ Lo8s 29 e ALY 122,520 364,440 A 241,920
= 10,000
Al 112,520
401 AIEHI L 2CHEI 122,520 364,440 A 241,920
< 10,000
Al 112,520
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OSl: CROFAL 2B (c9: & 9)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 120,000 363,000 A 243,000
O0elol & LoBs2A TWEEIA
100, 000& *500m 50,000
O0elol & LoEsY RAE>
1,000,000 *50H £~ 50,000
OZZItY EXIAEY 20,000,000& » 14! 20,000
< 10,000
Al 10,000
03 Al S HHI 2,520 1,440 1,080
OAIE S HHI 350,000,000& *0.72% 2,520
SAAHEEZ HE 8,538,027 6,967,658 1,570,369
< 90,000
Al 8,448,027
SAAHEANE B4 450,000 550,000 100,000
FE0IS= i 50,000 50,000 0
305 a2 S 50,000 50,000 0
o1 Hia=s 50,000 50,000 0
ORE0IS=tH4 50,000,000& =13l 50,000
ole=X 24 400,000 500,000 A 100,000
401 Al HI K 201 I 400,000 500,000 100,000
01 A& HI 400,000 500,000 A 100,000
OZANAHEEZ OIXNSEXN EXNOHY
50,000,000& 8% X 400,000
JIBtAIE &5 M (ZEADIBAIESE 3 AH) 1 1,991 21,980
ol Bl 8l " 1,991 21,980
801 GilHI 8l 11 1,991 A 1,980
01 Broildidl 11 1,991 A 1,980
©uldl bl 11,000& x13] 11
SANHEEZ e 2 22 8,088,016 6,415,667 1,672,349
< 90,000
Al 7,998,016
SAHEEZ MESX E= 444 264 647,127 A 202,863
101 @124 4] 40,560 50,000 29,440
04 JIZHHZ2XNHESE S 40,560 50,000 A9,440
OAHCX(Z0H,deh) €2 2 B85 W=
81,1203 x 10 50 40,560
201 Let249] 11,400 10,200 1,200
02 =24l 11,400 10,200 1,200
O+HSR ) ZERNBE Y 242
450,000& x12& 5,400




SH: 2
Y TAHEEZ OHE

Chel: SAHEEZ JHE & 2e (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O+35u 520 22e= 2%
500,000& = 12& 6,000
T AIEHI &R0 392,304 586,927 A 194,623
01 A& HI 390,000 582,000 A 192,000
OZANAHEEZZ AERXNES 200,000 x250m 50,000
OSANHAEEZZ OtAZ MR
200, 000& *500m 100,000
OSAMAHEEZTZ NHHZM ZA
100,000& *1,000m 100,000
OMI98 TAIHEEZ OLAZ MR
30,000& *2,000m’ 60,000
Ogdl1s 108 U2 S At 100,000 «100m 10,000
OXNENEZ FXNEH| 100, 000& *200m 20,000
OZANAHEEZ 25 JHH ALY 200,000 «250m 50,000
03 Al 2 THHI 2,304 4,927 A2,623
OAIE =TI 320,000,000& *0.72% 2,304
SASTANAHEEECZ HE 401,440 2,105,400 A 1,703,960
401 A& HI L 20l 401,440 2,105,400 A 1,703,960
01 A& HI 400,000 2,100,000 A 1,700,000
OZAZANAHEETZ S22-601S (I XNANE=SE
w A)NE S AH(0F22]) 100,000,000 22 X 200,000
OZASTANAHEETZ S23-803& (A ZR-5HZ
22l )& 3 A 2,000,000& =100m 200,000
03 AlE SR THHI 1,440 5,400 A 3,960
OSASTAAHETZ2IE 400,000,000 *0.36% 1,440
gi1s SAHEESZHE 251,800 1,202,700 A 950,900
401 Al HIZ 201 8] 251,800 1,202,700 A 950,900
01 A& HI 250,000 1,200,000 A 950,000
OYAZANAEEZZ (AEEHE~PHOIER2HE
ZEHl S At 375,000 *400m 150,000
OZIZANANECZ(REAE~-+H)E2FH 3
A 100,000,000 *1JH £ 100,000
03 Al =2 THHI 1,800 2,700 A 900
Og&ES TAHEEZZNL
250,000,000& *0.72% 1,800
AEHCAHNS 2N 511,512 0 511,512
< 90,000
Al 421,512
401 A& HIZ 2018 511,512 0 511,512
= 90,000
Al 421,512
01 A& HI 510,000 0 510,000
OMETAHETZ AZ21-5065 (A H AE -4 LY
SAE)INE S A 1,000,000& *210m 210,000




SH: 2
Y TAHEEZ OHE

Chel: SAHEEZ JHE & 2e (=& J)
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OXNEHZANEEZZ ATHISAM(ERAER
JERE) (3= Q1 & 04 0l &F) 300,000,000 =14l 300,000
= 90,000
Al 210,000
03 Al S THHI 1,512 0 1,512
OXMEBZAIAEETZ JHE 210,000,000 *0.72% 1,512
23S SAHEEZHE 29,000 20,000 9,000
207 A RO H| 29,000 0 29,000
01 289 29,000 0 29,000
O A HE(ZA LAE3-9035)HPZE &
S 29,000,000 » 14 29,000
St X S3HALY 250,000 0 250,000
403 MtXISHH S =0l & 250,000 0 250,000
02 S 2SO HEAEE 2 E AL 250,000 0 250,000
O8td Xs3 A 250,000,000& =14 250,000
1018 SAHEANE B4 6,200,000 0 6,200,000
401 Al HIZ 201 8] 1,200,000 0 1,200,000
01 A& HI 1,200,000 0 1,200,000
OFII0IEY ZAAHAE JI=LAHH
60,000,000& x20= & 1,200,000
403 MtXISHHE X201 E 5,000,000 0 5,000,000
02 SO 2SO HEAE R 2 E AL B 5,000,000 0 5,000,000
OFIIODIEY STAHEANE BA(LYEZAIHE
T2 HE1-103%) 1,000,000, 000& 14! 1,000,000
OFIIONIEY STANHEANE BA(HEZAIHE
T2 WE3-3015,521-307&)
1,000,000, 000& 14 1,000,000
OFII0IEY TAHEANE B (S AIHE
2 E21-301%) 300,000,000 =14 300,000
OFII0IEY TAHEANE B4 (JMEBZAIHE
2 E21-501%8) 500,000,000 =14 500,000
OFII0IEY TAHEANE B (JMBZAIHE
2 WE3-504%) 1,000,000, 000& 14 1,000,000
OFII0IEY TAHEANE B (SLTAIHE
T2 E21-603%) 200,000,000 =14 200,000
OFII0IEY TAHEANE B4 (LT AIHE
2 Wz2-101%) 1,000,000, 000& 14 1,000,000
HYR2IZH (E2D) 94,596 83,124 11,472
DI 94,596 83, 124 11,472
2Bt 94,596 83,124 11,472
201 242 Y| 35,568 33,696 1,872
01 At 22l 35,568 33,696 1,872
o=l 8,000& «19F 7L 123 12,768
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2 S22
H: HHRHHH (=2 D)
¢hel: D123l (=& J)
SA-ZH () - HRAY - BES Off &4 %Ei Husz
OYBt42H 100,000 «19% » 128 22,800
202 01| 52,728 43,128 9,600
01 2U 041l 45,600 36,000 9,600
P48 = X0 200,00091 « 192 « 122 45,600
02 204t 7,128 7,128 0
o2 198,000 x32 12 7,128
203 ¥R =Xy 5,100 5,100 0
04 BA2YHRET Y| 5,100 5,100 0
ORN2IYREAY 425,000 « 12 5,100
204 = 2 43 A 1,200 1,200 0
01 HHMZ A2 AY 1,200 1,200 0
OB LR LA 100,0002 * 12 1,200




